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Regn minusstykkerne. Hvilket tal skal der stå for at regnestykket passer?         

 

  22 - __ = 20 
 

3 6 2 4 
 

 

  25 - __ = 20 
 

5 4 2 6 
 

 

  29 - __ = 20 
 

8 9 6 7 
 

 

  27 - __ = 20 
 

6 4 7 9 
 

 

  23 - __ = 20 
 

3 2 1 0 
 

 

  20 - __ = 20 
 

2 1 0 10 
 

 

  21 - __ = 20 
 

0 1 2 4 
 

 

  28 - __ = 20 
 

8 6 4 9 
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Regn minusstykkerne. Hvilket tal skal der stå for at regnestykket passer?    Løsning 

 

  22 - 2 = 20 
 

3 6 2 4 
 

 

  25 - 5 = 20 
 

5 4 2 6 
 

 

  29 - 9 = 20 
 

8 9 6 7 
 

 

  27 - 7 = 20 
 

6 4 7 9 
 

 

  23 - 3 = 20 
 

3 2 1 0 
 

 

  20 - 0 = 20 
 

2 1 0 10 
 

 

  21 - 1 = 20 
 

0 1 2 4 
 

 

  28 - 8 = 20 
 

8 6 4 9 
 

 


